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#include <stdio.h>
#include <stdio.h> — 1 mx2(7| Ao« WEESISHIRERWIDINSRY

fidefine WIDTH 40 — . !
o void starbar(woid)

{

void starbar (void) sk 0|2

Int count;

for(count=1; count <5; count++)

(koY
int count; M2 pUtChar( ),
for (count = 1; --= EX HH= Ey Tah

putchar('*'); St S pUtChar( \ﬂ ):
putchar ('\n'); St S ER
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1 #include <stdio.h>
2 double min(double, double);
3 #int main(void)

double x, y;

printf("Enter two numbers (g to quit): ");
while (scanf("%1f %1f", &x, &y) == 2)

{

printf("The smaller number is %f.\n", min(x, y));
printf("Next two values (g to quit): ");

}
printf("Bye!\n");
return 9;




-double min(double a, double b)

{ Enter two numbers (g to quit): 3.5 7.4
return a < b ? a : b; The smal ler number is 3.500000.
} Next two values (g to quit): g

!
1/* alternative implementatioBye'

double min(double a, double b)
{

if (a < b)

return a;

else
return b;

}
</
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#include <stdio.h>
void chline(char ch, int i, int j);

2int main(void)
1
char ch;
int coll, col2;
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printf("Enter a character (# to quit): ");

Enter starting and ending column: 3 7
aaaaa

Enter next character (# to quit): #

Bye!

if (ch
continue;

printf("Enter starting and ending column: ");
if (scanf("%d %d", &coll, &col2) != 2)
break;

chline(ch, coll, col2);
printf("\nEnter next character (# to quit): ");

}
printf("Bye!\n");
return 9;
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/* This assumes the first column is called column 1 rather than column © */
-void chline(char ch, int i, int 7)
{
int col;
if (i <1 || J< 1)
return; // want j >= i

for (col = 1; col < i; col++)
putchar(’ ");

for (col = i; col <= j; col++)
putchar(ch);
return;




it &= 719 int
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#include <stdio.h>
void chLineRow(char ch, int ¢, int r);

2int main(void)
1
char ch;
int col, row;
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printf("Enter a character (# to quit): ");
while ((ch = getchar()) != '#")
{
if (ch == "\n")
continue;

printf("Enter number of columns and number of rows: ");
if (scanf("%d %d", &col, &row) != 2)
break;

chLineRow(ch, col, row);
printf("\nEnter next character (# to quit): ");

}
printf("Bye!\n");
return 0;




// start rows and cols at © Enter a character (# to quit): s
-void chLineRow(char ch, int c, int r) [SCERIIsCIgNsyiReVigkar:glRyllsCIgue) N g liETIY N

{

SS88888
SSS5888S

int col, row; $5835SS

for (row = @; row < r; row++)
{ Enter next character (# to quit): #
for (col = @; col < c; col++) ot
putchar(ch);
putchar('\n');

}

return;
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1 #include <stdio.h>
2 double hmean(double, double);
3 7int main(void)

double x, vy;

printf("Enter two numbers (g to quit): ");
while (scanf("%1f %1f", &x, &y) == 2)

{

printf("The harmonic mean is %f.\n", hmean(x, y));
printf("Next two values (g to quit): ");

}
printf("Bye!\n");
return 9;
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-double hmean(double a, double b) Enter two numbers (g to quit): 3.5 2.4

The harmonic mean is Z2.847458,

{ . ]
if (a == -b) léli"c two values (g to quit): g

{
printf("2nd hmean() argument can't be the negative of the 1st.\n");

printf("Return value of hmean() invalid.\n");
return 9;

}

else
return 2.0 * a * b / (a + b); (1

}

_/*

1/ (( 1/x + 1/ y) / 2 ) reduces to 2*x*y/(x +y)
*/
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1 #include <stdio.h>
2 void larger_of(double *pl, double *p2);
3 =zint main(void)

double x, vy;
printf("Enter two numbers (g to quit): ");
while (scanf("%1f %1f", &x, &y) == 2)

{
larger of(&x, &y);
printf("The modified values are %f and %f.\n", x, y);
printf("“Next two values (q to quit): ");

}

printf(“Bye!\n");

return 9;




WSPRINNtcr two numbers (q to quit): 3.5 2.4
N [he modified values are 3.500000 and 3.500000.
Next two values {q to quit): g
Bye!

*p2;

// alternatively:
_/:+=

void larger of(double *pl, double *p2)
{

*pl= *p2 = *pl > *p2 ? Fpl : *p2;

}

</
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1 #include <stdio.h>
2 void sort3(double *, double *, double *);(1
3 =zint main()

double x1, x2, x3;

printf("Enter three numbers (g to quit): ");
while (scanf("%1f %1f %1f", &x1, &x2, &x3) == 3)
{

sort3(&x1, &x2, &x3); (2

printf("Here are the values in increasing order: %g %g %g\n",
x1, x2, x3); (3

printf("Enter next three numbers (g to quit): ");

}
printf("Done.\n");
return o,




-void sort3(double * pl, double *p2, double *p3)
{ 1
double temp;
// put largest value into p3
if (*p2 < *pl)
{
temp = *pl; (1
*pl = *p2; @
*p2 = temp; 3

}

if (*p3 < *p2)




// at this point *p3 is largest value
// now put next largest value into p2
if (*p2 < *p1) |
{ Enter three numbers (g to quit): 2.5 6.89 5.123
¢ _ %1 Here are the values in increasing order: 2.5 5.123 6.89
emp = "PL, Enter next three numbers (g to quit): g
*pl = *p2; Done.
*p2 = temp;

}

// at this point *p2 is the next largest value,
// i.e. mid-value so *pl is smallest
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1 =#include <stdio.h> can 01291@
2 #include <ctype.h> E Fﬂterg?.
3! int let int . !setter .
2| dne Let_pos(int c); < letter #1i.
int main{voli is not a letter.
514 is not a letter.
6 int ch; s not a letter.
7 in't pDS_; iS nDt a |Etter.
: _ | — 1s not a letter.
8 while ((ch getchar()) != EOF) | is not a letter.
9 { is not a letter.

pos = let pos(ch);
if (pos == -1) is not a letter.
printf("%c is not a letter.\n", ch);
else
printf("%c is letter #%d.\n", ch, pos);

}
printf("Byel!\n");
return 90;



/* function assumes letters are coded sequentially, as in ASCII */
/* otherwise, you could store the characters sequentially in two */
/* arrays and then search an array for the character and use the */
/* array index plus 1 as the position in the alphabet */

-int let pos(int c)

{

int pos;

if (islower(c))

pos = ¢ - 'a’ + 1; (1
else if (isupper(c))

pos = ¢ - ‘A" + 1; (2

else

pos = -1;
return pos,;




08

FCF.)

—
(©)
—

2| I E 8} Of

B

AHE S0l

ZSEl=PN
sial

o[

(09| 05

0{0

E__:
H|
IIfS

nz=lo 2 HAESHE}.

10l
L
T
<+
jol
104

—t

Kl

30



1 #include <stdio.h>
2 double power(double a, int b); /* ANSI prototype */
3 =#int main(void)

double x, xpow;

int n;

printf("Enter a number and the integer power");

printf(" to which\nthe number will be raised. Enter q");

printf(" to quit.\n");
while (scanf("%1f%d", &x, &n) == 2)
{
xpow = power(x, n); /* function call */
printf("%.3g to the power %d is %.5g\n", X, n, xpow);
printf("Enter next pair of numbers or g to quit.\n");
}
printf("Hope you enjoyed this power trip -- byel!\n");
return 9;




20 =double power(double a, int b) /* function definition */

211 |{
22
23
24
25
26
27
28
29

double pow
int 1i;

if (b == 0)
{

if (a == 9)
printf("0 to the © undefined; using 1 as the value\n");
pow = 1.0;

32



else if (a Enter a number and the integer power to which

pow = 9.0; the number will be raised. Enter g to quit.

} 1.2 12

else if (b > @) B 2 o the pover 12 is 8.9161

for (1 = 1; 1 <= b d++) | N BT R e 1L &

pow *= a; 2 16

else /* b < @ */ 1 2 to the power 16 is 65530

pow = 1.0 / power(a, Enter next pair of numbers or g to quit.

. * q
return pow; /* return the val i auypu TN PP P
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1 #include <stdio.h>
2 double power(double a, int b); /* ANSI prototype */
3 #int main(void)

double x, Xxpow;

int n;

printf("Enter a number and the integer power");

printf(" to which\nthe number will be raised. Enter q");

printf(" to quit.\n");
while (scanf("%1f%d", &x, &n) == 2)
{
xpow = power(x, n); /* function call */
printf("%.3g to the power %d is %.5g\n", X, n, xpow);
printf("Enter next pair of numbers or g to quit.\n");
}
printf("Hope you enjoyed this power trip -- bye!\n");
return 0;




20 =double power(double a, int b) /* function definition */

21! | {
22
23
24
25
26
27
28
29

double pow

if (b == 0)
{

if (a == 9)
printf("0 to the © undefined; using 1 as the value\n");
pow = 1.0;
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else if Enter a number and the integer power to which
pow 0- ;chg ?gmber will be raised. Enter g to quit.
else if 1.2 to the power 12 is 8.9161
pPOW ) Enter next pair of numbers or g to quit.
else if 2 16
pOw a * pgwer\(a_’ b - 1)_; to the power 16 is 65536
else /* <0 */ Enter next pair of numbers or g to quit.
d

pow = 1.0 / power(a, -b); Hope you enjoyed this power trip -- bye!
return pow; // return the value o
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void to_binary(unsigned long n) /* &7 &5 */
{

int r;

r=niw®%2é;

if (n >= 2)
to_binary(n / 2);
putchar(r==072 '0" = "1");

return;




1 #include <stdio.h>
2 void to base n(int x, int base);
3 =7int main(void)

int number;

int b;

int count;

printf("Enter an integer (q to quit):\n");

while (scanf("%d", &number) == 1)
{

printf("Enter number base (2-10): ");

while ((count = scanf("%d", &)) == 1
&& (b < 2 || b > 10))

{

}

printf("base should be in the range 2-10: ");




if (count !
break;

printf("Base %d equivalent: ", b);

to_base n(number, b);
putchar(’'\n');
printf("Enter an integer (q to quit):\n");

}
printf("Done.\n");

return 9;
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29 =void to _base n(int x, int base) /* recursive function */

30| | {
31
32
33
34
35
36

37

= X % base;
if (x >= base)

putchar('0" + r);
return;

9
Enter number base (2-10): 2
Base 72 equivalent: 1001

Done.

Enter an integer (g to quit):

Ent int to quit):
to_base_n(x / base, base); q” er an integer (g to quit)
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1 #include <stdio.h>
2 double fibloop(int n);
3 2int main(void)

int val;

printf("Enter a nonnegative integer: ");
while (scanf("%d", &val) == 1 && val >= 0)
{

printf("(loop) Fibonacci #%d: %g\n", val, fibloop(val));
printf("Next value? (<@ to quit): ");

}
printf("Bye!\n");
return 0,




16 =double fibloop(int

17 | { Enter a nonnegative integer: 5

18 double precil S |oop) Fibonacci #5: 8

19 doubl 2 Next value? (<0 to quit): O
upTe bree {loop) Fibonacci #0: 1

20 ‘f’“”b?e ans =34, Next value? (<0 to quit): -1
21 int 1; Bye!

22

23 if (n == L™ %y
24 ans = 1; (EL
25 else -
26 for (i = 2; 1 <= nj; i++)
27 {

28 ans = precl + prec2;
29 prec2 = precl,;

30 precl = ans,

31 }

32 return ans,

33 |}
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Thank you !
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